T KELLICEEI HERRAE(RER O FRER)

Rk BR.LEX

BRBERDESE 2ERhDERR
B AT & & 139A0438

& il £ hE(2)-1

il = ih EATHER=TH
HOE'E O# B ZRtARER

e . . D
T B
= g g2 b

‘“?ﬁ‘%\iéi@ﬁmwnf
\ﬁfy/

(ANNS

SCAYN
CRages
RN

1/25,000

T I TN AT I 7T

1/200,000

¥R B (S=1:200,000)






RIER b AR X EGEH =

HR3—2 BEVICERTILEESNIERICEIREE /D i} _ | HEEFE | FRUSEE
StEfouE | EmEEs 139A0438 | E % hE(2)-1 FRfE  ERTWHERI=TH
SERMO TinICHEET S ZER A
ﬁ,ﬁg TREOBEBOSILHOKRES ITREOHBEEILNOKRES TEFEOBEBOEILHOKRES ITWEOHBSEILADKRES
R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
9 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
3 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEFBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
5 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
6 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
7 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = FhLst = -~ = -| Zh st -~ = = =
8 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = st = -~ = -| Zh st -~ = = =
9 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = FhLst = -~ = -| Zh st -~ = = =
10 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = FhLst = -~ = -| Zh st -~ = = =
11 100kN/m##8% % 1.00{0.00 ~ 2.09 132.42| 3m%*x#B2 5 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 11.07 ~ 22.00 132.42| 3m%x{B2 5 =l ~ - - =
s 1.00{2.09 ~ 9.88 100.00f Z=hklst | 0.00 ~ 9.88] 2.53 13.53 st 1.00f 500 ~ 11.07 100.00f Z=hl4t+ | 5.00 ~ 22.00f 2.53 13.53
12 100kN/m##8% % 1.00{ 0.00 ~ 245 138.36| 3m%x#82x 5% ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.60 ~ 22.00 138.36| 3m%x#B2 5 =l ~ - - =
s 1.00] 245 ~ 10.24 100.00f Zhkl9t | 0.00 ~ 10.24| 2.64 1413 s 1.00f 5.00 ~ 10.60 100.00f Zhl4t+ | 5.00 ~ 22.00f 2.64 14.13
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
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